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g 2 K4 BEHRAUL | RBRAVL | HRRA2L | R—FR
1 BEAR %X 128.00 75.00 53.00
2 WLFES 101.15 85.00 16.15
3 hAR BEF 80.83 50.00 30.83
4 |FEHRKER 52.92 50.00 2.92
5 il K& 48.60 29.00 19.60
6 |KE EX 44.00 20.00 24.00
1 |EBEE BA 4350 35.00 8.50
8 =H 1LE 37.15 27.25 9.90
9 [BEK ER 34.76 20.00 14.76
10 | BEH 34.62 25.00 9.62
11 A K& 34.00 34.00
12 |BK 8B 32.89 30.25 2.64
13 |[BH —Ep 31.52 26.00 5.52
14 |ME EiKX 30.24 17.16 13.08
15 |SEPRRE 30.00 30.00
15 |FEIE T/ 30.00 30.00
17 === 26.35 8.00 18.35
18 |ERIFBEZ AT 21.72 15.00 6.72
19 (JtBF &3t 20.70 9.50 11.20
20 |(FHIIEBRE 19.96 13.16 6.80
21 RIBEREZ AN 19.60 9.50 10.10
22  |M# Bk 18.52 13.50 5.02
23 |@L XK 18.42 16.25 2.17
24 |mAR K 18.35 18.35
25 | BB =3 17.73 17.73
26 |3 HE 16.15 12.75 3.40
27 | OB 13.75 6.00 7.75
28 | KPE #ER 12.10 12.10
29 [MAAR{EXER 11.31 7.56 3.75
30 (bl KEE 10.92 8.00 2.92
31 2R 10.20 2.60 7.60
32 |HKE—HBR 10.15 10.15
33 |fBlR &N 10.05 3.85 6.20
34 |IFA KM 9.40 6.50 2.90
3% [EE HM 9.11 7.16 1.95
36 |AE {2 8.90 7.00 1.90
37 KB BX 8.81 4.06 475
38 |JI|E IFEE 8.70 6.46 2.24
39 b2 8.45 5.25 3.20
40 |lUAR BxE 8.40 8.40
41 | ZIl 87 7.70 5.75 1.95
42 WK BE 7.44 5.55 1.89
43 |F Fik 6.95 4.80 215
44 =k A— 6.85 2.10 475
45  |MH St 6.70 6.70
45 |{EESS— 6.70 6.70
47 |{E#k BHME 6.29 4.80 1.49
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g 2 K4 BRIV | RBRAUL | HRRSV | R—FR
48 |40 RF—EA 6.10 6.10
48 |kRBE 1%fE 6.10 6.10
50 |3 B 5.92 3.00 2.92
51 (G = ) 5.86 3.85 2.01
52 | & AFEKE 5.85 2.30 3.55
53 (Il (B[ 5.28 450 0.78
54 |FEE FJ 5.02 2.20 2.82
5 |BARK —E= 452 3.00 1.52
56 |PaIER IRME 4.45 445
57 |ATE #fEwR 443 2.95 1.48
58 |tbE@m BKE 4.39 4.39
59 |HH & 437 437
60 |2E {“KX 410 2.50 1.60
60 |{hRAEERH 410 410

62 |#BF EA 3.55 2.20 1.35
63 |FHE ¥AX 3.20 3.20
63 |AFE @i 3.20 3.20
65 |&F M2 3.05 3.05
66 [T MBE 2.70 2.70
67 ||RE HE 2.60 2.60
68 |XF #&#C 2.45 2.45
69 |BEE EEX 2.23 2.23
70 |fAK ER 2.07 2.07
7| M2 2.00 2.00
72 |&L—EA 1.96 1.96
73 INHEREZE 1.83 1.83
74 |IR BKER 1.80 1.80
74 INE hiE 1.80 1.80
76 |EHEMmAER 1.76 1.76
77 |BIR IKIE 1.70 1.70
78 [0 HEE 1.66 1.66
79 |¥BAK E£TH 1.64 1.64
80 |JAK KE 1.61 1.61
81  |K& BIR 1.60 1.60
82 )OO %A 153 153
82 |=H &E 1.53 1.53
84 A KEh 1.52 1.52
85 |REFEHZN 1.45 1.45
86 [dtH EA 1.34 1.34
87 |LF Fth 1.31 1.31
88 | K¥E HE 1.30 1.30
88 |[MARERTyA 1.30 1.30
88 [ TF = 1.30 1.30
91 i EX 1.27 1.27
92 |[/INEF EE 1.25 1.25
92 |[hEH B 1.25 1.25
94 |HLE X#t 1.24 1.24
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I 452 K4 BEtRAUL | RBERAUE | HRRAUE | R—FR
95 |EFpk FNER 1.20 1.20
96  |{hRARERH 1.13 1.13
97 |HEEMEAXER 1.12 1.12
97 |HAFFEXER 1.12 1.12
99 ;AR 1.11 1.11
100 |ARAR} 1.02 1.02
101 |REMIZE 0.95 0.95
102 |([AFH Hith 0.91 0.91
102 (3kEF A 0.91 0.91
104 |J\& = 0.84 0.84
105  |BaJEB L 3 0.83 0.83
105 |9vHF HE 0.83 0.83
107 | KR ZB3t 0.81 0.81
108 |LWUf &Ed 0.80 0.80
109 |B&R HiE 0.76 0.76
110 |GFH E#E 0.74 0.74
110 |[BH JREX 0.74 0.74
110 |EH B 0.74 0.74
113 |h$t BRfA 0.72 0.72
114 |EBE &A 0.70 0.70
114 |#8E &K 0.70 0.70
114 | EFR/ Bk 0.70 0.70
117 | EH RE 0.69 0.69
118 |(AH #BF 0.67 0.67
119 |58 BA 0.66 0.66
120 [IUTF fE5E 0.62 0.62
121 | KHE =T 0.61 0.61
122 |& AR 0.60 0.60
123 |#8H & 0.58 0.58
124 |ThiE HFEE 0.54 0.54
125 |HIA E38 0.53 0.53
126 |HIR & 0.52 0.52
127 |;IH 84X 051 051
127 (¥&dWu #LJE 0.51 0.51
129 |[FF BE3 0.50 0.50
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